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MULTIPLE CHOICE QUESTIONS
SUBJECT : PHYSICS
FULL MARKS : 40

. (Each question carries one mark.)
(English Version)

Given A = 2 + .’u 4nd B = I +_| The component: ufvr:crm' A along veclor Bis
7

! B
A B 75 C*f’ P

A cubical vessel of height 1 m is full of water. What is the amount of work donc in
pumping water out of the vessel ? (Take g =10m S2)
A: 1250] B. 5000)J C. 1000) D. 25007J

A stone of relative density K is released from rest on the surface of a lake. If viscous effects
are ignored, the stone sinks in water with en acceleration of

L

A g1-K) B. g(l+K) C. 9;3"1}1'] - g(l+%J

If & persan ean throw a stone to maximam height of h metre vertically, then the maximum
distance through which it can be thrown hﬂnmntally by the game person is

A 2 B. h C. 2 D. 3h

=

A body of mass 6 kg is acted upon by a force which causes a displacement in it given by

x=Imctrcwherztls the time in second. The work done by the force in 2 seconds 1s
A 12] B. 91 =N D. 31

A box 15 mewd along a straight line by a machine delivering constant power. The distanice
moved by the body in time t is praportional to
| 3

.3
An o B. tt c, t D.

A particle is moving wilk a constunt speed v in a circle. What is the magnitude of average
velocity ufter half rotation ?

v v
A v B. 2 €= 15 D, 5=

A crickel ball of mass 0.25 kg with speed 10 nv/s collides with a bitt and retums with same
speed within 0.01 S. The force acted on bat is

A. 25N B. 50N C. 250N D. 500N
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It the Earth were to suddenly contract to 1 ol its present radius without any change in its

mass, the durution of the new day will be nearly

A. 24/mhr. B. 24nhr C. 24/n’hr.

24 n? hr.

If g i the seceleration due to gravity on the surface of thie earth, the gan in potential ¢nergy
of an object of mass m raised from the carth’s surfice 10 3 height equul 10 the radius R of

the eurth is
A M#_ B, _ngg,_g C. mgR

2mgR

The charge on the capacitor of capacitance C shown in the ligure below will be

_f .
R,
AN y——
Rl
{} ANV
C
CER, CER,
A. CE B. R oor C. R+r

The resistance across A and B in the figure below will be

R R R

A nnnnnnnnnn WYY —
- ey raey L

A. R B. R
C.

B

D. None of the above

CER,

i

-

Five equal resistances, each of resistance R, are connecled as shown in figure below. A
bittery of V volt is connected between A and B. The current flowing in FC will be
) C
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Two cells: with the sume emE E and different mternal resistances r, and g, dre connected
il senes to an extomel resistance R, The value of R so that the porential difference svross
the first cell be zero is

Current through ABC and A'B'C’ is 1. What is the magnetic field 4tP ? BP =PB' = r (Here
C'B' PBC are collinear) .

A—s 1B
«P
B
1
o
121 _Haq20 Bt
A B=p-s B. B-4ﬂ[rJ C. B= _hU D/ zero

The mugnenc field st the point of mtersecnon of disgonuls of & square wire loop of side L
carryimne a current I'is

m o 2hol o V2wl 242 g1
nL ' 199 L nL D, nL

in an inclastic collision an electron excites as hydrogen atom from its ground state to a M-
shell state, A second electron collides instantaneously with the excited hydrogen atom in
the M-Siale and jonizes [1. A1 Jeast how much ener 2y the second. -:Icctmn transfers o the
atom in the M-state ?

A. +34eV B. +1.51eV C. 34eV D. -151eV

A radioaclive nucleus of mass number A, initially at rest, emits an a-particle with a speed
v. The recoil speed of the daughter nucleus will be

2v 2v 4y 4y
A 4 B A+3 G a3 D, &+a

A

In the nuclear rcaction

N+X———> C+ H

the X WIll be

A e B. H c. ‘H D. m
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Which type of Gate the fullowing truth 1able represents 7

. luput Output
A | B Q
0 0 1
0 1 1
| 0 1
1 1 0 |
A, NOT B. AND: C. OR D.  NAND

A material hiss Poisson's ratio 0.50. If & uniform rod of it suffers o longitudinal strain of

2 % 103, theh thie percentiage chunge in volume is
A. 06 B. 04 €. 02 D. zero

Two identical springs are connected to mass m as shown (k = spring constant). If the period
of the configuration in (a) is 28, the period of thé configuration (b} is
-(®) ®)
) 1
\ : —_ 247
A 428 B. 18§ ¢ 7S D. 2428
An object weighs my in 2 liquid of density d, and that in liquid of density d, is m,. The
density d of the object is . ] | ‘
m,d, ~m,d m,d; —mads
A= gl En?':/“ e l‘l,h 33
iy =8y iy -m
md, —m,d, m,d, —m.d
C. =it ,m"fl‘ By d= et
il my —m,
A body floats in water with 40% of its volume outside water. When the same budy floats in
an o1l, 60% of its volume remains cutside oil. The relative density of o1l i
A 09 B. 1.0 € 12 D. 15
Two soap bubbles of radii x 4nd .}' coalesce to constittite & bubble of radius 2. Then 2 is

equul 10
: +
A 4y B. fx+y C. x+y D. 1_2_‘1
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A particle of mass m is located in a one dimensional potential field where potential energy
is given by :

V(x) = A(] — cos px), where A and p are constants. The period of small oscillations of the
particle 15

[ 'm ’ m m 1 Ap
s} e - = ——
A 2nm (Ap) B. 2n (Apd) C. 21{\/;; - -

The period of oscillation of a simple pendulum of length { suspended from the roof of a
vehicle, which moves without friction down an inclined plane of inclination a, is given by

I / ! !
A, 2mn, f B. 2mnn\ ’ T C. 2n \j: D. 2= J
£ COS U £ 5m o ! g tan o

In Young's double slit experiment the two slits are d distance apart. Interference pattern is
observed on a screen at a distance D from the slits. A dark fringe is observed on the screen
dircctly opposite to one of the slits. The wavelength of light1s

D- d? D2 42
= B. 75 GO T D: p

A plane progressive wave is given by y = 2 cos 6.284 (330 t ~ x). What is the period of the
wave 7

g, - AL 6,384
A, 338 B, 211:-«3_’?!1:1 C. (2a=3B0'S D =3 S

The displacement of a particle in S.H.M. varies according to the relation x = 4{cos nt + sin nt).
The amplitude of the particle 1s

A. -4 B. 4 C. &2 D. 8

: A-42 B-T2
Two temperatire scales A and B are related by —775~ =535 - At which tempemture lwo

scales have the sume reading ?
A 420 B. -72° C. +12° D. —40°

An ideal gas is compressed isolhermally anil its pressure is doubled and thon allowed to
expand adiabatically to regain its original volume (y = 1.4 and 274 = 0.38). The ratio of the
final to initial pressure 1s

A 0761 B. 1:1 C. 066:1 D. 086:1

Air inside a closed container is saturated with water vapour. The air pressure is p and the

saturated vapour pressure of water is p. If the mixture 18 compressed o one half of its
volume by maintaining tempetature constant, the pressure becomes

A 2(@+p) B. 2p+p C. (ptp)2 D. p+2p
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34. 1.56 x 10° ] of heat is conducted Ilirough a 2 m? wall of 12 cm thick in one hour.
Tempersture Jifference between: the 1wo sides of the wall #s 20 °C. The thermal
conductivity of the material of the wall is (in W m K

A 011 B. 0.3 C. 015 D. 12
. . 4) . T
35. Adiveratadepthof 12 min water|p=7 | sees the sky in 2 cone of semivertical angle :
(4 l r44 3
. 12 _ e e | o
A, sin | 3) B. tan '1_3. J C. sin '( 4J D. 90

36.  Two thin lenses of focal Jengths 20 cm and 25 om e placed in conacl. The effective
power of the combination is

A. 9D . B. 2D C. 3D D. 7D

37. A convex lens of focal length 30 cm produces 5 times magnified real image of an object.
What is the object distance ?

A, 36em B. 25cm C. 30¢m D. . 150cm

38. I ihe focallength of the eye piece of a telescope is doubledl. its magnifying power (m) will
be

A 2m B. 3m c. 3 D. 4m

39. A plano-concave lims is made of gluss of refractive fndex 1.5 and the radius ol curvalure of
its curved face is 100 cm. What is the powerol the lens 7

A. +05D B. -05D C. 2D D. +2D

40. Four charges equal to ~Q are placed #t the foul comers of o square and a charge q Is at its
centre. If the system is in equilibrium, the value of q is

A Fasnd B S +nd
§ T,Qn-fﬂj D. g-u-zﬁp_
, - L

Qcollegedunias

[


Stamp


o

2.

86743

PHYSICS
(Bengali Version)
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9, w4 o i e qd sefe s o W i [—:L o NTH U, O
g fibe SAnEe ot 26 o N |
A.  24mhr. B. 24nhr . C. 24/o?hr D. 24n’hr

10, T Tl WiEsEs 939 g 5, DR m O T e o U il I R a3 AN
“mm e R A e

AL mg R B mg R c

3 3 mg R D. 2mgR

11, Fr = firgn odfie o o1a% A0y O §Y C W EW 39 Ha

_|E y
——AAMAAN———
.R2
i o
Rl
—ICI—MWM——
_ CER, CER, CER,
A. CE B. R+t C. R +r D. Rt
12, fora odfefn A G B 43 5 (39 30 30 ¢
R
A : ";B‘"‘T ."'R"""v “"""T‘i"" :ﬂB
A 3R | B. R
C. % D. (@HB% 79

13. <k S Ew o W R, frewfie bros A sy eifty | Ao B 7 AWV volt S

ARIE O $2 59 | FC 3 547 fim #angs 55 o
‘ C

3V v vy 2V
A R B R C. R D R
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MULTIPLE CHOICE QUESTIONS
SUBJECT : CHEMISTRY
FULL MARKS : 40

(Each question carries one mark.)
(English Version)

The normality of ‘30 volume H,0,’ is

A 20678N B. 5336N C. 803N D. 6.685N i

Reaction of formaldehyde and ammaonia gives
A. Hexamethylene tetramine
C. Urea

B. Bakelite
D. Triethylene Tetramine

A plot of In k against T (abscissa) is expected fo'be a siraight line with miercept on ordimate

axis equal to

AS° AS° _AS° 5
A. 2.303 R B. R C. R D. R X AS
Which of the following represents the composition of Camallite mineral ?
A.  K,0:-ALO,-68i0, B. KNO,
C. K80, -MgS0, - MgCl, - 6H,0 B KCl - MgCly - 6H,0
The solubility of Ca, (PO, ), in water is y moles/litre. Its solubility product is
A 6 B 36y C.  &4%° 0. 108y |
Paracetamol is
A, Methy! salicylme B.  Phenyl salieylite
C.  N-acetyl p-amino phenol D.  Acetyl salicylic acid

Anhydrous ferric chloride is prepured by .
A.  Dissolving Fe(OH), in concentrated HCI

B.  Dissolving Fe(OH), in dilute HCI

C.  Passing dry HC! ayer heated iron scrap.
Y. Passing dry Cl, gas over heated iron scrap.

Which one of the following is s-butyl phenylvinyl methane ?

{ [
Pi
A.  Ph /\/lfme B 1%"\
Me - Me

Ph

C. Mc/\f\"’ D. s

14
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Hybridization of C, and C, of H,C —~ CH = C = CH - CH, are
A.  Sp,Sp? B. Sp%Sp C. Sp% Sp? D. Sp, Sp

Which of the following compounds is not farmed in iodoform reaction of acetone ?
A. CH,COCH,l B. ICH,COCHJI C. CH,COCHI, D. CH,COCI,

The energy of un electron i first Bahr orbit of H-atom 1s -13.6 ¢V. The possible energy
value of electron in the excited state of Li®" is
A -1224eV B. 306eV C. -30.6eV D 136eV

The amount of heat released when 20 ml 0.5 M NaOH Is mixed with 100 m! 0.1 M HCl is
x k3. The heat of neutrulization 1s

A, —100xkI'mel B. —350xkl/mal C. +100xklmel D. <350 xkl/mel

Which one of the following has the lowest ionization enetrgy ?
A.  1s22s22pb B. 1s22622pf3s! C. 1s%2s%2p° D. 1s®2s?2p

The ozone Fayer forms natusally by

A. the interaction of CFC with oxygen.

B.  the interaction of UV radiarion with oxygen,
C.  the interaction of IR radiation with oxygen.
D. the interaction of oxygen and water vapour.

2/ of metal carbynute is neulralized completely by 100 mi of 0.1{N) HOL The equivalemt  *
weight of metal carbonate is

A, 50 B. 100 C. 150 ' D. 200

Which.one of the following is not true at room temperature and pressure ?
A.  P,0,,is a white solid B. 80, 1sacolourless gas

C. 'S0, isacolourless gas D. NO, isn brown gas

An eleciric current is passed through an aqueous solution of a mixwure of alanine

(isoclectric paint 6,0) ghitamic acid (3.2) and arginine (10.7) buffered oi pH 6. What is the

fate of the three acids ?

A.  Glutamic acid migrates (0 anode ai pH 6. Arginine is present as # cation and migrates
to the cathode. Alamine in a dipolar ion remuins uniformly distributed in solution,

B. Ghuamic acid mugrates to cathole and others remnin umf’em:ly distributed in
solution.

€. All three remain uniformly d:smbumd m ﬁulunun

D.. All three move to cal.hadc

15 P.T.O.
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The representation of the ground state electronic configuration of He by box-diagram as
| T s wrang because it violates

A Hysenberg’s Uncertainty Principle

B.  Bohr’s Quantization Theory of Angular Momenta

C  Pauli Exclusion Principle
D.  Hund’s Rule

The elzctronic transitions from n = 2'to n = | will produce shortest wavelength in (Where
n = principal quanium state)
A Lit? B. He' C. H D. H

In he following :.cclmn dol struciure, calcolate the Tormal charge from lefl to night
nitrogen atom |

N-n-N

A ~1, -1, +1 - B. -1,+1,-1 C. +l;-l,_—l D.. +1,-1,+1

If the molecular wt. of Na,§,0; and I, are M, and M, respectively, then what will be the
equivalent wi. of NapS.0, nnd 1, in the following reaction 7

28,05 +1,— 8,00 +2r

A MM, B. M, M,2

C. 2M, M, D. ‘M, 2M,

A radioactive ytom ;':M emits two o particles and one [} particle successivaly. The number

of neutrons in the nucleus of the product will be
A, X-4-Y B. X-Y-5 C. X-Y-3 D. X-Y-6

An clement belongs 1o Group 15 and third period of the periodic table. Iis electronic
configuration will be '

A. 152252 2p3 B. 15222 2p*
C.  1s%2s? 2p5 352 3p? D. 15?252 2p% 352 3p2

Which one of the following is paramagnetic
A. N, B. NO C. Co D. O,

Platinum, Palladium and Iridium are called noble metals because
A. . Alfred Nobel discovered them.

B.  Theyure shuung lustrous and pleasing to look at.
€. They are found in native state.
D.  They are inert towards TATY COMMOn reagents,

16

gcollegeduniag


Stamp


66.

67.

68.
69,
70.

71

72.

73.

74,

86743

Which one is not a constituent of nucleic acid ?
A.  Uracil ' B. Guanidine
C.  Phosphoric acid . D. Ribose sugar

The sp>d? hybridization of central atom of a molecule would lead to
A.  Square planar geometry

B.  Tetrahedral geometry

C.  Trigonal bipyramidal geometry

D. - Octahedral geometry

In agueous solution glucose remains as
A, Only in open chaui form B. Only inpyminoze form
C.  Onlyin furgnose forms 2. In all three forms i equilibrium

Which of the following s used 1o prepare €, gas atroom temperature fror concentrated
HC1? ‘ . '
A, MnO, B. H,8 C. KwnQ, D. Cr0

NO, is not obtained on heating

Two gromatic compounds having formula C,H,0 which are easily identifiable by FeC s
solution test (violet colouration) ire

-o-cresol and benzyl alcohol

m-cresol and p-cresol

¢ o-tresol and p-cresol

D.  methyl phenyl ether and benzy! alcohol

The ease of dehydrohalogenation of alkyl halide with alcoholic KOH is
A 3P<20<«]e B. 3°>2°>]° C. 3°<2°>7)° D. 3°>2°<]°

The ease of Nitrafion of the following thres hydrocarbons follows the order

w >

CH,  CH;, CH,
@CH; :
H;
‘ {{ (I (110)
A, [I=II~=I B, O>II>1 C M>I>I D. I=1I>1

The correct erder of decreasing scidity of nitrophenols will be
A m-Nitrophenal > p-Nitraphenol = o-Nitrophenol

B.  ¢-Nitrophenol > m-Nitraphenol > p-Nitrophenol

C.  p-Nimophenol > m-Nitrophenol > o-Nitrophenal
. p-Nitrophenol > o-Nitrophenol > m-Nitrophenol

17 P.T.O.
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77.

78.

79.

80.

86743 _
Among the alkenes which one produces tertiary butyl aleohol on acid hydration 7

A CH,- CH;- CH=CH, B, (CH-CH=CH-CH;
C. l.LHij-.f‘ cu D. - CH, - CH=CH,

Which n!’ the followmg cumpounds has maximum vctauh:v 7 coon

O O G

COOH

Which one of the following will show optical isomerism ?
H H
| I
|
H OH
CH, CH;,
| =,
| |
H Cl

The pH of an aqueous solution of CH,;COONa of concentrated C(M) is given by

1 L
A. _ 7-5pK,t5logC

1 1 1
B. EPKW"'EP“H,"‘E":'SC

1 1 1
C. EpKw—Epr—~§1ngC
],

The standard reduction potential E® for half reactions are

Zn=2Zn*?+ Ze E°=+0.76 V
Fe=Fe*+Ze E°=+041V
The EMF of thé cell reaction
Fe*2+ Zn=2n"*+ Fe is
A -035V B. +035V C. +117V - D. -117V

If the equilibrium constants of the following equilibria

)
50y + 705 ===50; it 250y == 280, + 04
ure given by K and Ks respectively, which of the fallowing relations is torrect 7

A Ky=[o 'I: | : B LY
. ¢ [F‘i - K —(KI]
y SR 5
Co K= [KJ D. K;=(K,)
18
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CHEMISTRY
(Bengali Version)
41. 30 HmET H,0," a9 Fier 5rar g8
A. 2678N B. 5336N C. B8.034N D. 06.685N

42, wmmETeES R sy ffnmm S

A IR GRRE B. IMenE

€. TERm D. % - 20w GEEE :
43. ﬁmaﬁmﬁwtﬁmmkﬂ%(x-mm]ﬁmﬁmﬁmmﬁmﬂﬁ

SEEIEd! NI U, M y-E gEles (9 TRE

AS° AS® AS°® .

44. FefEtne ofn cmb FHEE emosE SUvH S Y

C. K,S0, MgSO, - MgCl, - 6H,0 D. KCI-MgCl, - 6H,0
45. Ca,(PO,), 57 S0 TSl y moles/litre | TT7 TS ST

A 6y B. 36y C. 64y D. 108y
46, wmaifHEEE T

A, yEe sfersIEEE B. g smfesiien

C. N-myfids pamfen oo D.  wfiEEE e anbs

47. wE o @RS 09 edl &N

A.  Fe(OH), & =1 HCI 4 53® 3°13 |
B. Fe(OH), @ =1 HCl 4 539® ¥'W |
C. s 6 e 398 av HCHwfm
D. ETREE ETE SUE 9F A i il |

48. ez e s-faehrie e famss e ¢

. Me . Ph
! Me P M :
: “ Mo Me Ph ¢
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M - CH=C= CH - CH, 01 C, 3R Gy - S0 TR ¥
A.  Sp,Sp’ B. Sp%LSp . C. Sp% 8p? D. Sp,Sp

Gsifeing st il B st e ot o At 7
A. CH,COCH,l B, ICH,COCH}l C. CH;COCHL D CH,COCI,

TACETC 29 wa asa Yol S 13,6 oV | Lit 1 B 4w TeReg S

=ffis

A, -1224¢V B. 306eV C. -306eV . D. 136eV

20 R fer 0.5 M NGO Stz sy 100 . 0.1 M HCI 5 Gt 91 « k) st et
= = | i s=iw oneE wW 79

A -100xkl/mol B. . 50xkJ/mol C. +100xkJjmol D. +50xkl/mol
ibe arany fee S35 2

A 15?282 2p8 B. 1s22s22pf3s! C. 1s22s%2p° D. 1s?2s22p
PUREE e ¥E Gy =7 e Im 1

A CFC 43 9oy S wens '

B, LIV IS ST sk SeanT

C. IR ¥R 5 SRS Ry

D. IRUEA aR. wEm e TR

@] aaﬁmm:gmwwm aww 100 BfF 0.10N) HEO #nres

XU | 40% ITANARIOR o O IS 2

A 50 B. 100 C. 150 D. 200

rofs st age G JrEe @i S My 2 ‘ .

A PO, i o s B. S0,k 38

C. SO, &9t 0 7 D, NO, 5 st s

43% GAN TRt (AR BIETER (isoelectric point 6.0), plutamic NG (32) 4@
arginime {10.7) ffw wwE @ pH 6 (buffered) | g™ 2z e anfie Bz o &
=T .

A, Glutamic W6 SMEATE UE pH 6 - atmﬁﬁﬁmﬁmmauw
WA | e o T S SR R SR ER 4RE |

B. i wifeng SMuS wna oy I8 BT S S Wit S1ew |

C, Tomd¥ ey savt sfom 9

D. fEsE smmems oE |
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58.  He s s Sewes twvela Gmms [T1] 05 e Bt va o o v o
A, A G2 el -%'a'_ram |
B, (ditr (G SR cRRIS IS o i
C. wiEh R Mo W At |
D, ww i wme : ' :

5. 0 =200 p =] {CRIGE OWR W SIERW W SH0RT Pow QR o
{n = 7T (ATNTET &9)

A L B. . He’ C. H D. H' -
60. WA TEAETE; WA WY (formal) W wem TF AN B0 SR Gl 1 (5
|93 G
N=N=N
A —1,-1,+1 B. -l,+1,-1 C. +1,-1,-1 D. +1,-1,+1

61. Nu,S,0y 9 I, a2 mflie wwm M, &3 M. 361, P Rfsacs NS0, 2 1, 42

28,07 +l,——=S,0¢ + 2T

A MM, B. M, M,
C, 2M,M, D. M, 2M,
62. wﬁwmf#fmf,mwmﬂ%mmﬁﬁwﬁﬁwm 1 Suww s gt
fim sk
A X-4-Y B. X-Y-5 C. X-Y-3 D. X-Y-6
63. a4 (BN ETEE 15 o o wli i | B R s ao
A, 15?252 2p} B. 1s22s22p*
C. 1s%2s? 2p53s? 3p3 D. 1s?2¢22p0 352 3p?
04, Frifefiee: offr wo cori B 7 _
A N, - B. NO C. €O D. O,

65, wriioAr, Arerienm ae Ve cie e e (oble metals) 907 £,
A, TEOES IR IO oW 36 |
B.  RumE e pONA S0 (RO S |
C. Bt @iow SRy +iog 9 |
D. wiERRe remie ffevess s Yo REEmdy |
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A TEafe B, oufier
C. e e D. WS P

(R ST W @R R WREAmT spbd® 1 v el o
A St a B sudw G

¢ Fush - Rt D. wwedn ar

A SRS S N WIS B, SN TEAKATS WA
€. awTa ReEaEte snghens b. [ wgfersy sirees o |

T HO) (e TR ey Cl, s e 2am owr Al o ol s o w2
A MO, B HS C. KMnO, D, Cro,

Sicsa o ca s Se wikst NO, it T ¢
A AgNO, - ‘B.  KNO, C. CuNOy), D.  PbNO,},
ol TS (0 T0ea Hww CH0 o aeg FeCly 5ecm 5wy Rfmm amn swoet

ST 501 U (o ) T T
A p-CTSEl 9 (AR WETEE| B. @ g9 p-aEsE

C. oIt 9% p-Lwsys D. s s Tum 49 GRS s
IR TMEROSE S0 Tt KOH v2 ferfSammenerrm A soe corg

TR TN
A 3P<2°<° B. 3°>2°>]° C. 3°<2°>1° D. 3°>2°<1°

e foals alroranms A0 9 T 1w oF She w0 5

(:HI CH, CH,

© @..C Q

M )
A =M=l B. O>M>I C. I >IO>I D. I=I>1
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wneifEqafm qur @l wiise wiveeer by REEe armes S 3 2

A. CH,- CH,-CH=CH, B. CH;- CH=CH-CH,
D. CH,- CH=CH,

C.  (CH,),C=CH,

mm«rﬂmwm:ﬂmﬁam ?
Ol OH

‘O QO™

COOH
s offs oy el awerdy st (1somerigm) G 7
H . H
l I
A. HO-— ? — CO.H B. H,C—C—CO,H
|
H OH
CHJ CH;
|

|_
C. H;C—C—COH
¢ )

H Cl
C(M) mvtw T CHJCOONa 27 =i o pH TR
A p!{ + 7 log C
B. Epl{“+5"}}l{h+'§hg_c
1 e ml
C. SpK,—3pK;-351l0gC
1 =
D. 'Z'plc_+§pﬁl+5hgc
o e SR o st e fios B
In=In?+Ze E°=4076V
Fe=Fe*l+ Ze E°=+041V
¥, wrwer BB Fet2 + Zn =27 + Fe &7 EMF 1@
A, -035V B. +035V C. +L17V

- o N
ﬁmﬁﬁ%mﬂﬁim.m332+i%#503m25031-_—‘*230;*01

WIS |, SR K, T, 5 o 7RG sie 2

i 2 ——1_]
N o xo

i :
.- HE"GEJ D. K=K
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SPACE FOR ROUGH WORK
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